Prepare an approach for the following dihybrid problem:

A tall, yellow-seeded hybrid pea is mated with same.  Tall is dominant to short.  Yellow is dominant to green.  What are the genotypes and phenotypes of the offspring?

For Friday, we will look closely at the statistical method and you need to prepare.  First, you will use the probability method to predict the chance of ttyy from above cross.  Then, using the following problems, we will develop the stat method:

Axial is dominant to terminal flower.

Yellow is dominant to green seed.

Tall is dominant to short plant.

A hybrid tall/pure green/hybrid axial pea is mated with a short, pure yellow, terminal plant.  Predict all genotypic outcomes using the statistical method.

A pure axial tall strain of pea is mated with a terminal short strain of pea.  The F1's are self-mated.  WITHOUT using a punnett square, predict the full genotypic and phenotypic outcome of the cross.  If we were to all a third hybrid locus, what would we multiply by and how many terms would be generated?

The following two homework assignments are designed to move you into considerations of chromosomal linkage, sex linkage and pedigrees.  The reasoning exercise in kraus is specifically necessary for your exam prep for Tuesday's test:

HW 4 due September 24, 2012:

Griff page 80, question 16.  

Kraus page 358, REX 1 (important for exam).  DO NOT use the convention on Kraus p 354.  DO USE SUPERSCRIPT NOTATION>>I went over that with you briefly when we reviewed the diagnostic.

HW 5 due September 28, 2012:

Griff page 81, question 29. Page 84, question 48.

Tuesday's test is three probs

-dihybrid with punnett.

-stat method, multiple loci, unlinked.

-sex linkage predictions, human genetics. 
